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4, B EPHEC 18 434): Explain the definition of NPV, the AEEAR, | BERfRFR:
SWERIE | BRI

formula of NPV, the connotation of NPV, the decision rules
of NPV; demo how to use NPV to make the investment
decision(ff R NPV 112 X THHEA, MR NPV =R
[l TSR SR SO SR, AR 158 491 L Jee oS dn ey
SR NPV ik 55

(5 17 K 7 ) «

when you investment? How can we know whether we can

“What are you most concerned

recover the principal and earn the required return?)
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5. M@ (3m):  You and Smith make different investment AEAR. | BRERA: | FEHNESS
decision for the same product. What’s the enlightenment U z G g ABRES
from it? i e

(AR BB ik ez A 6 85 “ AR A [F
BRI A AR RS ? 7, 5] S AR L B B
VEEkR. FTEFEET. )
6. R UM ( 8 7+%F) : factors affection NPV, the AR | Bk,

Z ok W | BEREN.

advantages and disadvantages of NPV(5411 NPV [ [ &,
NPV HIILFHFIAE D

(FeibZ BT NPV (THEE A F], REFAMRE RS
NPV, KI5 2RSS . SRJEZIMET NPV TR S
JUIFR S B 2R R PR NPV IR AIANE o D
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7. R (11m): BRI R 6
Look at the real case and discuss the following
questions:  Someone said the Hongkong-Zhuhai-Maocao
Bridge is a white elephant. Do you agree or not, and why?
What’s the enlightenment from the incident of Zhu Qihua?
(Lb 2 A2 5 T P BRI B AH 5515 B 58 T 41 ) 47
ﬁ%:%%%ﬁ%%%&u&7ﬁﬁﬁ%~%ﬁﬁ%%
THa? HANRBHRB A AR, FERRE
N A?T WRGHEFFFRET A HR? D
HAAZHMER:
(1) wRBBEHEE (1m)
(2) /MALEHE (sm): LN BRLEAT I8,
Hrep 2 HEEGITREFE “RX DR, 534
10 = P e S )
(3) EWARIAT (5m): MARE [ S
2 FOTEEAL NS R > = BOM R
AN JF 70 2 AR AT R
(4) B, BT MEEE, THEES
JEIIAI 2

(BEHEHBAHF)

HEAR
Z AR R

AP RIpE
ZE 451 1) 7L 11
%

Ltz 5it
ANREZ .,

2. REn=E
AR E S
5, fEsY
17 10% [ U FE
5

(FHEFEBHE
EEAL)EE
FEKRF/IE
IIBE LA, &
2 5155
F B e
MG )
BN, )
I RS
AR




(AL ILFZ LT 18 1, KT H A REE
i H A 199 5 77 1] 3825 T H XX G EE 5 2
A BT HEFFET TN, 9] G T = 70
B AN 2 HI0T i, HEEFE T GOK L
IR " HIH R E R FIE . )
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